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Biology (New Scheme)  Paper: II (f;) I 2 d,cd;j.“&) 220 - {(IV) IT 24 ({‘f&f) Gl
Time: 15 Minutes (Group: I)  Objective (&4 (o b)) e 15

Marks: 12 Code: 7467 12:%
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1. 1- RenalPelvisis a part of e kB -1 L1
kidney <./ (D) heart (b (C) lung < s (B) testis % (A)
2- is not a part of hindbrain. .- o Kofakd =
medulla oblongata le@:l,b,’y (B) pons i (A)
cerebrum («dr (D) cerebellum {&LS_,;' (C)
3 - Stem Tuber is an example of - Ji J (Stem Tuber) ;:::‘(-’-’L’ -3
potato J7 (D) ginger ! (C) garlic o7 (8) tuip JuF (A)
4 - %age of O, in expired air during breathing It 03 T s O c“.: J}L«,C.-.-Jb Sy
at rest is percent. e aS A ST
30 (D) 79 (C) 21 (B) 16 (A)
5- Acoordinated action ends at e b (EBESLY s
heart b (D) coordinator .7 (C) response u”‘g’; (B) stimulus %~ (A)
6 - How many bones make our skull? % G;u:_. & L oL dyd:;:é’ﬁxh -6
24 (D) 26 (C) 14 (B) 22 (A)
7- Pencillin was discovered by _J.:-'?;» (Pencillin) ;,:'Lf: o -7
Fleming £<° (D) Robert Hooke of &l (C) Darwin st} (B) Lamark L (A)
8 - Decomposers are - L-J_o;'/d i -8
mosses »+ (B) algae ! (A)
fungi and bacteria L 25,51 0¢ (D) animals st (C)
9- The alternative form of a gene is S _FUsdur -9
histone & (D) locus ¥ (C)  DNA Iy} (B) allele J4 (A)
10 - In which year Human Genome Project was started? Tl {,-,j :.,E?l{ (S Jo J/ -10
2000 (D) ©1990 (C) 1880 (B) 1970 (A)
11- is not a biotic factor. e S A, 11
soil " (D)  bacterium £25 (C) animal .Je (B) plant by (A)
12 - How many pairs of homologous chromosomes are St Lx e ir a7 f}’f/u);fﬂ VU 12

present in human cell?

56 (D) 28 (C)
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Biology (New Scheme)  Paper: 11 (" VI I sk JEBE) 220 Il 24 (f'-‘ ) SIlk
Time: 1:45 Hours (Group‘ I) ' Subjective JL‘;" (.f:/ thr) & 1:45 1
N .- Marks: 48 &‘y ,/0&6, -30 48:%
-..:W.’ L iy (2) ve qufrn.o -4l Jie ol
Note: Section Iis compulsory. Attempt any two (2) qucstmns from Section IL.
Section-1 Jil
2 - Write down short answers to any FIVE (5) questions. (2x5=10) -i{fu{,u’/"ﬁuﬂb’ (5) él . Jf 2

i- What are lenticels? Tur s K Jg
ii- Define expiration. RNy d’ﬁ;u“r .
iii-  What is diaphragm? S L—' f!} 45 RS 111
iv- Define guttation. g gt |
v - How skin produces cooling effect to body? fe. J/‘lﬁ« s f() LA v
Vi - What is the function of myelin sheath in neuren? - M S Ez’y“L sl -
vii - Define nerve. PSS -vid
viii- What are the functions of pons? ek LG - vin
3 Write down short answers to any FIVE (5) questions. (2 x 5 = 10) ..Z{(/ HLL?/‘?LHULV (5) 6L i Jf 3
i- Differentiate between endoskeleton and exoskeleton. “ZE e O sl ot pialiCan g Bl L
ii- Whatare biceps and triceps? S Lo U Gt S5 ) e 5L - i
iii- Define suckers. Write down two examples. & ey s g o
v - Define spermatogenesis and oogenesis. ' ,é - /"L, ~E st ol (,r'::’?r"'/ ~iv
v - Write down the names of any two nitrogen bases present ST -Jd/u’.r A Jrgl. DNA -v
in DNA molecuie. ' e L
vi-- Give two reasons for selection of pea plant by Mendel St BT AE .’-.';.'(..-.,L,/.-%_r ¥k -vi
for his experiments. S LIRC Y TRY
vii - State Mendel's law of independent assortment. _éu{.{; ..*.»'ér!..v‘ir;dj:lu.iffs ¥ ke -vii
viii - .Dei‘ine natural selection. a’.' J/‘T [S1 Ju? - vidl
4 Write down short answers to any FIVE (5) questions. (2 x5 = 10) -cf(/zul.i!/‘?ﬁuﬂlr(& él. 5 éf 4
i- Whatis meant by food chain? - ‘e s e UB5 i
ii- What is pyramid of biomass? ' e b VAT -
iii- What is ammonification? St L ks el -
iv- Whatis assi.milation‘? ' &L S v
v- Whatis meant by lactic acid fermentation? fe s e ._r"-'-"*? B v
vi- What is meant by continuous fermentation? e ia G g
vii- From which morphine is obtained? e b S AL v
: viii'-. . What is the usage of antibiotic drugs? -85 b i § el J"if& H ovii

; Section - IT r::'..b
‘5 - (a) Explain osmoregulatory function of human kidney, (4) & e molls uif"r_j’)':':?;ﬁl K. ;fJLJI () 5

b .Write down a note on reflex action. (5) ,&J.:J{ J"-/' J‘Q}? ()
6 ~ (a) Whatis cartilage? Explain the three types of cartilage. (4) -";é;:»m L}/[‘L‘-"fgfd’ ?:E'f: T gé-k:b’ W) _g
(bj Describe the development and structure of seed. (5) ke Ui & (..,Q)
7 - (a) Write down & note on single-cell protein. (4) _Hé;:,;’_ﬁ/ cﬁu J:g}t’ (W o7
(b) Describe the types of medicinal drugs on the basis  (5) r.—:l _a!-gu bl (b e 5 L Eus Ced
of their sources. _2: ol
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" Biology (New Scheme)  Paper: II ((E, VW II sl dﬁd;}é) 220 - (IIT) g4 ((:"-'é) i
Time: 15 Minutes (Group: II) Objective U‘fy“ (.Td/" 13) Lo 15 1y
Marks: 12 Code: 7466 12 1%

& ».,JJ?..:/J:;..Ju:}béfé.,'é:.v&:dfrﬁgébldfﬁ .-'\,Ezé-)DJEIC‘B‘Au’bl;lﬁ.‘r?}&'t::d'fﬂ 07,
P b 7 ifd S e SES LSS LS Ui b e B f e SV SN S 050 3 b

1. 1- Expired drugs can cause damage to
stomach <. (D) kidneys Un/ (C)
2 - The design and arrangements for continuous
fermentation are
un-complicated aé.;;u,cf (D) impossible 'J'?t {C)
3 - The study of interrelationship between organisms

and their environment is called

physiology (&4 (D) histology &/¢: (C)

heart Js (B)
Ut A c}if}_jjé i.fruﬁgx;’ J’l"

simple

S & B (T b & Job & o sl psitile

ecology (/¢ (B)

s Je Kbl § o £ Fubue

- t‘L.ng ulﬂ;'
lungs s (A)

sl (B) complex 4% (A)

-2

cytology GAEL (A)

4- is the example of tertiary consumer, g Jo u’j;"/'({j;'}
hawk ¢#2 (D) sparrows (2 (C) snails & # (B) leaves Z (A)

In transcription, the specific sequence of DNA ncleotides -7 Sk £ DNA gl £ FA

is copied in the form of nucleotides. - bk y/dy.ﬁ J:"J;;’L':.ﬁ& !
RNA - polymerase (D} m RNA (C) t RNA (B) # RNA (A)
6 - The locations of genes on chromosomes are called - &f Sl 7l z _;'y'nf
nucleotides X't .rg:c' (D) RNA o iisT (C) DNA < lg-$} (B) locus ¥ (A)

7 - Which method of natural vegetative reproduction
is found in chrysanthemum.

suckers 25 (D}  stem tubers ),r;c'(n:' (€)

8.
of human skeleton?
308 (D) 302 (C)
9 - Deficiency of which vitamin causes night blindness?
A (D) K (C)
10 - is not the part of hindbrain.
medulla oblongata le~'v"!.l,r,-l Ui (B)
cerebellum (*"X (D)
11- In hurﬁans larynx is made up of
alveoli Jﬂg:},! (D) cartilage é"j( (C) hard bones
12 - is the name of outer region of longitudinal

section of human kidney.
 renal meduila Ui Jfo (B)
renal pelvis u);c.'.d‘:; (D)
123-(11I)-220-62000

action of vaccines.
123-220-62000

bulbs # (B)

£ - -
?‘L. b Ll 3~ U.J(g g_,%{ }?.e{; Gasd U 63 L,E’

corms /‘m’/ (A)

How many bones are organized into a longitudinal axis Ut ‘}"'ut'.’ e § 5 SP L Ubd {_,5’1;1 () U

208 (B) 202 (A)
e e o § b
C (B) B (A)
' e o2 K i

pons “L (A)
cerebrum pz . (C)
w bk fA 0%
$ier (@) bronchi (s (A)
P2 Sy L2080 L s S U

._q.'_. .
renal cartex B¢ I
renal pyramids /7L (C)
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Biology (New Scheme)  Paper: II (ﬂﬂﬂ! Il Jﬁd,};&) 220 Il 24 ((i':x') e
Time: 1:45 Hours (Group: II) Subjective JL—'I o (v’/lf”) & 145
Marks: 48 07 flo V78 Rt % 48:/%
oz £ oty (2) e 8 Lo a1 o)
Note: Section I is compulsory. Attempt any two (2) questlons from Section IL
Section -1 Jil.-»
2 < Write down short answers to any FIVE (5) questions. (2 x5=10) ,,é(/@;mﬁégmr(s) ék;- J.-(— 2

i- Define cellular respiration, & .@j";j/gﬁ[i//k <4
ii- Write down the function of mucus present in nasal cavity. ﬁggf.'Kuff AR d,:;’/d):' - i
- iii- What is lungs cancer? Write down its two causes. ,&”’;;m nd U e gf/"-’/b/u;%ﬂ - il
iv- Define succulent organs and give example. ~Z JB ol ’.iéf..g}u(/ff\.-.e’;ﬁ -iv
v- What is dialyzer? Se LAY -v
vi- Write down the names of two types of coordination i LB S S L sy v
in organisms.
vii- Define reflex action and give an example. s J.» kil cfuf/” o u'(i u’aw - _vii
viii - How ears maintain the balance of body? ot onpe /" oty b’f)uK - viii
3 - Write down short answers to any FIVE (5) questions. (2x5=10) é{/’.—a&l_"’/‘ﬂﬁumr (5) galu“‘_ ds- 3
i- What are osteocytes? ot n pr Laal i
it - What is meant by tendons? T ol Ve 24 i
iii - Whaty is meant by budding? el e £io -
iv- What is meant by parthenogenesis? fe ol l,,fc, u"’-":'gx“ig -iv
v - What are homologous chromosomes? fur Ls l//'rfs/’.,rgrn -V
vi- What is meant by loci? e sy e éb’f - vl
vii- What is meant by genotype? e sl fa AU vii
viii - Define incomplete dominance. wc"f ...a/."d/u =15 J‘"‘E - Viii
4 - Write down short answers to any FIVE (5) questions. (2x5=10) ..i(/uwi’/yé...ﬂlr(ﬁ) él. o Jf 4
i- Whatis pollution? S qu,uri <
ii- Write down the names of two environment friendly fuels. -&ff{t L ekl wrn Job s -ii
iii -  Write down two significant ill effects of acid rain. et ind u‘;L g -ii
iv- What is global warming? e ' Bty S
v - Define fermentation. ﬂz‘: ._y/."'fu"f‘;’ -v
vi- What is continuous fermentation process? S l,.fd’fs' ff’}’f -vi
vii - What problem is faced by development of antibiotics k/-"-c L, =, e e L u’g:t .f"! - vii
resistant bacteria? e 5T r“"L; Ve Lbsiy
viii - Differentiate between narcotics and hallucinogens. = D/ 2I69% sl o viii
_ Section - II (91 =
5 = (a) Explain xerophytes plants. Give an example. (4) .25 06 L85 el Ju»{ s (L) -5
(b) Write down five methods of natural vegetative (5) 24 é{! L u’-‘g":{;ﬂ,f": ettt Uy (&)
propagation in plants. J;f:’f 1%

6 - (a) What is arthritis? Explain its three types. (4) & oIl St VUIAT (W) -6
(b) Define binary fission. Describe this process in (5) Jj;,-’i Lt | 2K G J/JQ’J/L (.}
bacteria and amoeba. & eolos § h
T - (a) Explain groups of fermented food. (4) - ('jh L oS3 u"JJ" = J"”‘/ (-7
(b) Write down a note on vaccines and mode of (5) .:,:"{ Kz Ll J..ff § L ;;r% sl ,(g: (sl

action of vaccines. _é(_/f“
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